
SSuussppeennssiioonn  ttyyppee
Refer to the delivery note for
chosen suspension type.

Install rail system according ro drawing 
and enclosed mounting instructions. 
Please note below installation of rail 
systems with SafeCeil option (A).

OS-0004-US-04

2"

4"

A. SafeCeil
B. Gripple (M6)
C. Wood screw (M6)
D. Expansion bolt (M6)
E. Thread flange (M6)
F. Cable with eyebolt (M6)
G. SafeStrapUp (M6)
H. Alu Suspension Section 

C D E F G

A

B H

Safetrack Suspension Options
OS-0004-US-04

Install rail system according to drawings and 
enclosed mounting instructions. Please note below 
installation of rail systems with SafeCeil option (A).  

Suspension type 
Refer to the delivery note for 
chosen suspension type. 

Safetrack

4”

2”

A.	 SafeCeil
B.	 Gripple (M6)
C.	 Wood screw (M6)
D.	 Expansion bolt (M6)
E.	 Thread flange (M6)
F.	 Cable with eyebolt (M6)
G.	 SafeStrapUp (M6)
H.	 Alu Suspension Section

rev. 04/2021



A ( 1 : 2.5 )B ( 1 : 2.5 )

C-C ( 1 : 30 )

C ( 1 : 2.5 )D ( 1 : 2.5 )

A
BC C

C
D

41
mm

67
mm 77
mm

30
mm

56
mm 66
mm

11
mm

37
mm 46
mm

11
mm

37
mm 46
mm

130mm 46
mm

Max. 500mm

Ø
 m

m

Konus længde + 20mm

Ø
 m

m

Konus længde + 20mm Forsætning(H)

Forsætning(H)

130mm

Ø
/2

46mm

50mm
H = Ø/2 - Montagehøjde
Eks. ø630/2 - 46 = 269mm

010.1 020.1 020.2 020.3 020.4

020.5

010.1 020.1 020.2 020.3

020.4

020.5

010.1 010.2 010.3 010.4

010.5

Max. 500mm

Max. 2500mm

OS-0005-DK-01

Max.2500mmMax.500mm

Max.500mm Max.2500mm Max.500mm

Max.500mm Max.500mm

Safevulst (kl.12) Safevulst (kl.3,9) Safevulst (kl.12) Safevulst (kl.3,9)

H=Ø/2-mounting height
Ex.: Ø25/2-1 13/16”=10 3/4”

Offset (H)

Offset (H)

Safetrack, Triple Suspension
OS-0005-US-02

7/
16

”

1 
7/

16
”

1 
13

/1
6”

1 
3/

16
”

2 
3/

16
”

2 
19

/3
2”

7/
16

”

1 
7/

16
”

1 
13

/1
6”

1 
5/

8” 2 
5/

8” 3”

1 13/16”
5 1/8”

Ø”

Max. 20”

5”

1 
13

/1
6”

Ø”

Length of cone + 3/4”

Length of cone + 3/4”
2”

Max. 8’2” Max. 20”Max. 20”

Max. 8’2” Max. 20”Max. 20”

Max. 8’2” Max. 20”Max. 20”

SafeBulb (12 o’clock) SafeBulb (3 and 9 o’clock) SafeSlider (12 o’clock) SafeSlider (3 and 9 o’clock)



G F

A-A

BCDE

G FA A

BCDE

Note for studse
1 række ophæng er mulig
ved studse hvor L er over
500mm og studsen sidder
med Ret overkant!

60
mm

L

60mm

Min.100mm for at få ophæng

St
ud

sl
æn

gd
e 

+ 
20

mm

60mm 60mm

L

Ma
x.
 5

00
mm

Ø
 m

m

Center
Z1=Ø/2-ø/2

Ret Underkant
Z1=Ø-ø

Højde forskellen Z1 beregnes på
følgende vis ved ret underkant
Ø Plenum/2 - Ø forgrening/2 = Z1
 
Eks: Plenum ø630mm - Forgrening ø300mm
(630/2) - (300/2) = 165mm

OS-0006-DK-01

Max.500mm

Min.100mm for at få ophæng

60mm

Ø
/2

mm

Ø
/2

mm

Z1

60mm 60mm

Z1

Z1

60mm 60mm

Note for sockets
Sockets exceeding L= 20” 
and with flat top allow for 
1 row of suspension

For ducts flat on bottom: Height 
difference Z1 is calculated as follows:
(Ø plenum/2)-(Ø duct/2)=Z1
Ex.: Plenum Ø25”, duct Ø12”:
(25/2)-(12/2)=1/4”

Suspension requires min. 4” space

Suspension requires min. 4” space Flat on bottomCentre

So
ck

et
 le

ng
th

 +
3/

4”

Safetrack, Plenum, Triple Suspension
OS-0006-US-02

2 1/4” 2 1/4”2 1/4”

2 
1/

4”
M

ax
 2

0”

Ø”

2 1/4”
2 1/4” 2 1/4” 2 1/4” 2 1/4”

Max 20”

Ø/
2

Ø/
2



US
1

US
2

US
3

IS
1

IS
2

IS3

CS
1

CS
2

CS
3

Ø mm

US3

US2

US
2

US
1

IS2
IS3

IS2

IS
1CS
1

CS
2

CS2

CS3

Ø mm

10
0%

20
%

73
%

13
%

75
%

20
%

50
%

13
%

73
% 10

0%

60
mm

60mm

Vinkel°

Ø mm

Max.500mm

Max.500mm

Max.500mm

60
mm

60mm

90
°

Ø mm

Max.500mm

Max.500mm

Safetrack Options, Triple Track

(OS-0007-US-02) (OS-0008-US-02)

(OS-0009-US-02) (OS-0010-US-02)

(OS-0011-US-02) (OS-0012-US-02)

Gored Elbow 45° / Gored Elbow 90°

Gored Elbow 45° / Gored Elbow 90°

KE-Mitered Elbow / KE-Mitered Elbow 90°

2 1/4”

Ø”

2 1/4” Max. 20”

Max. 20”2 1/4”

2 
1/

4”

Ø”

Angle°

Ø”
Ø”

Max. 20”

Max. 20”

Max. 20”


	montage-OS-0004-US-02
	montage-OS-0005-US-02
	montage-OS-0006-US-02

